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10 Mwn: story — once the lower jaw jutted out past the upper; 3" asked o'nan and they confirmed it to be a o
a  background: previous mwn listed pig-like mouth as o and 1327 disagreed (with 8>x 1)
i therefore: our mwn informs us that disagreement was in a case where upper jaw jutted out; if lower — all agree
ii  challenge: only in context of humans does the nwn rule (ahead n:1) that he must look “normal”, due to v. 1
1  but: in context of animals, no such consideration
2 answer (97): if it has a bone, considered a m; if just extra skin folding over, not a mn (except for people)
20 mwn: further onn — specific to kid (goat)
a if the kid’s ear was doubled - if it was one bone, it is a DIn; if no bone — not a
i related xn7»72: if the mouth of legs are enlarged; if due to inflammation, not a m; if due to enlarged bone — on
1  and if: the ears are doubled over; if single cartilage — Dn; if separate cartilage — not a o
b 27an7 kid’s tail like a pig's...
i 971 need not be small; as long as it is round, considered swine-like and is a o
¢ ...orif it doesn’t have three vertebrae — min
i 7177 for goat — 2 vertebrae are min, 3 are not; for lamb — 3 are o, 4 are not;
1 challenge: xn» 1 — for goat, 1 is 0, 2 is not; for lamb, 2 is o, 3 is not
2 explanation: 0"y was misled by mwn; since 8¥ is in re: goat, he thought ra0 was as well (it isn't)
» mwn: additions of X”an1 and N’ 1
a  N7anT a wart in the eye, a piece of the foreleg bone missing, a broken jaw...
i challenge: a wart is not a D per next mwn
1 block: ny2> is an explicit bn mentioned in "N (v. 2)
2 rather: mention in NN refers to nY2 in eye; the Mwn ahead is referring to one on the body
(a) challenge: the n1n lists nY2» without qualifying location
(b) rather: mention in N refers to nb2’ with bone; the nwn is referring to one without a bone
(i) and: in the eye (without a bone) it is a D¥; on the body, not a mn (but is n17pNY H109)
(if) challenge: on the body, that is just hanging skin which is not na3pn% %109 (only on for 1n3) — per :1
(c) rather: both are in the eye; if in black — pn; if in white —not a nn, but 509
(i) challenge: there are no nmn in white of eye
(if) rather: both are in white of eye; if it has a hair — n27pn% 5109; if no hair — may be offered
b  ...eyes or ears of different sizes (as measured, not just by sight)
i eyes: “big” — like calf’s; “small” — like goose
¢ 71 if one testicle is as big as two normal ones — onan didn’t accept it
i ppom evenif one is as small as a bean - nMW
18 Mwn: a calf with a short tail
a if the calf’s tail doesn’t reach the 217y
i orpomr most calves grow that way; as they grow, the tail gets longer
ii  definition of 2377y (872n7): middle of thigh
1 meaning: upper joint of leg; same place is recognizable on a camel
28 Mwn: (summary) — in case of any of the above-mentioned nnn we slaughter 7131 and redeem w1
a  question: why the need for repeating the opening statement of X mwn?
b proposed answer: to explain that not only 7122 may be slaughtered for these n'nn; wTp may also be redeemed
i challenge: if we can slaughter, certainly we can also redeem for these
ii  rather: since in mid-p19, we introduced RX’s 3 additions which were originally rejected, and then we continued
to teach the individual’s opinion (>R ") —
1  therefore: we need to summarize that n3%9n% we allow any and all of these D'nn for M2 nVNY and WP 110
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